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1. oo faae ow Sewh iR Sferear/ Tew o
1x8=8
Choose the correct answer/Answer the
following :

(@) Tomm e el wow Teome T & A
T IA? '

Net National Product at factor cost is
known as

() e wFa Seamm
Net Domestic Product
(@) TW A0 9l \

Disposable Income \
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(i) SO S -

National Income ¢

(iv) €1 <OI8 T
None of the above

S B0 MR ferear |
Choose the correct one.

(i) GDPyp =GNPyp +NFIFA
(ii-——=DPyp =GNPyp ~NFIFA
(i SDPyp =GNPpc +NFIFA
(iv) GDPyp =NNP,p +NFIFA

ORE) FH SR o o
Def"me liquidity trap

GDP “RYR @D e HEo@ET IFm
W? . o

Compensation allowance is included in
which method of measuring GDP?

e TP wF wERRY W TS
NLFT & |

Differentiate between cost-push inflation
and cost of inflation.
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IS @Y 9IF LM @R R=if{s e & &
fAfRe =2

What are determined at the intersection
of IS curve and LM curve?

“Erffe T WE e 9% (e
ARG I e (e 2

“Inflation is always and everywhere a
monetary phenomenon.” Who said this?

) & 9. @
J. M. Keynes

(i) o Breem
Milton Friedman
(i) <. f5. fiz
A. C. Pigou
(iv) SIS 6/
Alfred Marshall
e wifdm T 2

What do you mean by effective demand?

2. oo AR R @ siftrR eRe 5 Gt fordn
(a5 o R foo®) :

4x4=16

Write short notes on any four of the following
(within 150 words each) :

(@)
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MR T TE e TN AFS P TR
Teomw
Nominal GDP versus Real GDP
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(b)

(c)

(d)

(e)

S PP Te R (AfSCB ¢ o o e foeTe)
Answer the following questions (within 500 words
each) :

3. (@) IRIMM o WRIM wRemy nde
Ry @3 Rem 75 /e fRémene 2
wfei SRR RRweI SEy ¥4

6+2+4=12
Distinguish between micro- and macro-
economics. Do these two branches
interdependent? Mention the limitations
of macro-economics.
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GDP R oK =fS
Value-added method to GDP

14

TUR SRR @R g

Keynesian approach to demand for
money

THrRIRT SR

==ationary gap

IR TS B
Fiscal policy multiplier

(S)

9&qr/ Or

(b) GDPF @FF IR «F RN Rows
I/TT T W e ¥} R R owae
MR RTee BRA GDPF  IHIADA
W A? 6+6=12
How is GDP an indicator of welfare?
Explain. In what grounds, GDP as a
measure of welfare has been criticised?

4. (@) GDP R S 9F IF &S SCaAml 391 |
T 1l SRR & &2 7+4=11
Discuss the income and expenditure

methods of measuring GDP. What are
the difficulties of expenditure method?

w={r/ Or

(b) W UF I/ IR RIF Pl 0T SR
0 F7 11

Elucidate the two-sector model of
circular flow of income and expenditure.

5. (@) @R “RYT O W G WE AW AR
I PR T AWepy e N4 ) & &
FRCT W G SRISLE WM qfR S
BB I AT T =2 7+4=11
Compare the similarities and differences
between cash transaction and cash
balance approaches to quantity theory of
money. In what ways, the cash balance

approach is superior to cash transaction
approach?

24P/1082 ( Turn Over )



(6)

W/Or ¢
(b) TEE TrEPR AR @ ¥ RN
AfRS  SEe ¥ @3 AfFmOR

SR=erz & 2 7+4=11

Explain the process of credit creation
of - commercial banks with suitable
example. What are the limitations of this
process?

6. (a) AR F STPRA L e | @RS
e TP gz B R0 wlifels

TRl s@ 3 ot SR ? 2+5+4=11

Show the difference between inflation
and deflation. What are the effects of
inflation and deflation? Do you think
that inflation is better than deflation?

9/ Or

(b) SfS-ErRf s w1 - AW
TRz R R 2 Erdfe @ T fRowet
e we RN AR a1 2+44+5=11

Define hyper-inflation. What are the
causes of hyper-inflation? Suggest the
monetary and fiscal policies of
anti-inflationary measures.
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7. (@) ‘oA R 5% R I 17 (% IR 5’7
5K R TS I 9 | FF @ e %
RRRGR Scemsn T = 2 7+4=11
“Supply creates its own demand.”
Explain the statement with reference to

Say’s law of market. In what grounds,
this law is criticised?

%]/ Or

(b) TS vk oI STRF o e 2 Ty
fouR e (IR W OGO A FM 1 5+6=11

What do you mean by aggregate demand
and aggregate supply? Illustrate the
Keynesian theory of income with
suitable diagram. |
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